

06160105A

Naohiro Tsuzu

Prop.(1) For all  $a \in G$ ,  $a_0[a] = [a]_{e_0} \Leftrightarrow G_0 \triangleleft G$ (2)  $G_0 \triangleleft G \Rightarrow [a]_{e_0}[b]_{e_0} = [ab]_{e_0}$ This makes  $\{[a]_{e_0} \mid a \in G\}$  a group.proof(1) Let  $a \in G$ .If  $a_0[a] = [a]_{e_0}$ , that is,  $aG_0 = G_0a$ .then  $aG_0a^{-1} = G_0aa^{-1} = G_0$ .Therefore  $G_0 \triangleleft G$ .If  $G_0 \triangleleft G$ ,then  $aG_0 = aG_0a^{-1}a = G_0a$  for each  $a \in G$ .(2) I show that  $[a]_{e_0} \cdot [b]_{e_0} := [ab]_{e_0}$  is well-defined (independent of the representative element)If  $[a]_{e_0} = [a']_{e_0}$  and  $[b]_{e_0} = [b']_{e_0}$ ,then  $[ab]_{e_0} = G_0(ab)$  $= (G_0a)b$  ( $\because$  associativity) $= (aG_0)b$  ( $\because$  normal)

$$= a(G_0 b) \quad (\because \text{associativity})$$

$$= a(G_0 b') \quad (\because [b]_{G_0} = [b']_{G_0})$$

$$= (aG_0) b' \quad (\because \text{associativity})$$

$$= (G_0 a) b' \quad (\because \text{normal})$$

$$= (G_0 a') b' \quad (\because [a]_{G_0} = [a']_{G_0})$$

$$= G_0 (a' b') \quad (\because \text{associativity})$$

Thus, this operation  $G/G_0 \times G/G_0 \rightarrow G/G_0$   
 $([a]_{G_0}, [b]_{G_0}) \mapsto [ab]_{G_0}$

is well-defined.

Then  $G/G_0$  is a group, whose identity element

is  $[e]_{G_0}$  and inverse of  $[a]_{G_0}$  is  $[a^{-1}]_{G_0}$ .

Indeed:

(Associativity) If  $a, b, c \in G$ ,

$$([a]_{G_0} \cdot [b]_{G_0}) \cdot [c]_{G_0} = [ab]_{G_0} \cdot [c]_{G_0}$$

$$= [(ab)c]_{G_0}$$

$$= [a(bc)]_{G_0}$$

$$= [a]_{G_0} \cdot [bc]_{G_0}$$

$$= [a]_{G_0} ([b]_{G_0}, [c]_{G_0})$$

(Identity element) If  $a \in G$ .

$$[a]_{G_0} [e]_{G_0} = [ae]_{G_0}$$

$$= [a]_{G_0}$$

$$[e]_{G_0} [a]_{G_0} = [ea]_{G_0}$$

$$= [a]_{G_0}$$

(Inverse element) If  $a \in G$ .

$$[a]_{G_0} [a^{-1}]_{G_0} = [aa^{-1}]_{G_0}$$

$$= [e]_{G_0}$$

